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(1) z=log V22 +y*0z=u?—0*0y=2ww 000
zu, 2o 0000w, 000000000
(2)z:Tan_lng:uz—UZDy:meDD
T
zZu, 2o U0 00w, OOOOOOOOO
3) z=(r+y)?0a=sin-Oy=cos— 000
u v
zu,Zo U000 w,o 00O OOOOO0O

4) w=p —v’D&=¢* +¢*0n=¢*-¢*000
we,wy 0000 @9 000000000

] 000 (1),(2) 000000 (a)~(c) 00000

(1) 2= f(z,y)Dx=2u+ 30y =u—2v
a) zu, 2 O 25,2, 000000000
b) 24,2, 0 2,2, 000000000
() 00 F=(z)*+(2)*0 2,2 000000000
(2) z= f(x,y) Dz =rcosf0y = rsinfb
(a) 2,20 0 25,2, 000000000
(b) 24,2, 0 2,2 000000000
() 00 F=(2)*+(2)*0 2,2 000000000



